(As per Rule 35 of Public Procurement Rules,2017)0

District Health Officer Office Mirpur (A.K) 1- Name of Procuring Agency

2- Method Of Procurement **Open Competitive Bidding** 

(Single stage-Two Envelope Procedure)

**Bedding Clothing/Utencils** 3- Title of Procurement

AJK-MR-100-N-2020 4- Tender Inquiry No

Daily Nawaiwaqt islamabad 25-11-2020

5- PPRA Ref. No.(TSE) 2222

6- Date& Time of Bid Closing 14-12-2020 -11AM 7- Date& Time of Bid Opening 14-12-2020 -11:30 AM 02

8- No. Of Bids Received

9- Criteria For Bid Evaluation **TECHNICAL & FINANCIAL** 

10- Deatails of Bid (s) Evaluation As under

S.No: 1		Item No:-1	wel Both Si	ize 4x2		
Name of Bidder	Marks		Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp International	80	N/A	27	410/-	11070/-	Accepted Being First Lowest being
M/S Waseem Traders	65	N/A	27	420/-	11340/-	Second lowest bid.
Lowest Evaluated	l Bidder					M/S Medicamp International

S.No: 2 Item No:-2				Bed Sheet Hospital White Zeen68x98				
Name of Bidder	Marks		Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Basis		
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017		
M/S Medicamp International	80	N/A	55	525/-	28875/-	Accepted Being First Lowest being		
M/S Waseem Traders	65	N/A	55	620/-	34100/-	Second lowest bid.		
Lowest Evaluated	l Bidder					M/S Medicamp International		

S.No: 3	It	tem No:-3	Pillo	w /foam	size Std size	
Name of Bidder	M	larks		Evalution (	Cost (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical	Financial		` ,		for Rejection//Acceptances per
	(lf	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	Applicable)	1			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
M/S Medicamp	80	N/A	42	355/-	14910/-	Accepted Being First Lowest being
International		1	i			Accepted Being First Lowest being
M/S Waseem	65	N/A	42	375/-	15750/-	Second lowest bid.
Traders	1	,		5,5,	13/30/-	Second lowest bid.
Lowest Evaluated	d Ridder					

a si	a Diddei					M/S Medicamp International					
S.No: 4 Item No:-4				Blanket Red Hospital Std size							
Name of Bidder	M	arks	Evalution Cost (Rs)								
	Technical	Financial	1	• ,		Rule/Regulation/SBD/Policy/Basis					
	(If	(If	Qty	Rate	Amount	for Rejection//Acceptances per					
	Applicable)	Applicable)			Amount	Rule 35 of AJK PPRA Rules,2017					
M/S Medicamp	80	N/A	11	2450/-	26950/-	A					
International				2430/-	20930/-	Accepted Being First Lowest being					
M/S Waseem	65	N/A	11	2600/-	206001						
Traders				2000/-	28600/-	Second lowest bid.					
Lowest Evaluated	Lowest Evaluated Bidder										

M/S Medicamp International

S.No: 5	It	em No:-5	Matr	ess Molty	Fom 78x36	x4
Name of Bidder	M	larks		Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	08	7500/-	60000/-	Accepted Being First Lowest being
M/S Medicamp International	80	N/A	08	8100/-	64800/-	Second lowest bid.
Lowest Evaluate	d Bidder	F				M/S Waseem Traders

S.No: 6	Iten	1 No:-6	Matres	s cover 79	x37x4 clot	h	
Name of Bidder		arks	Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Basis	
	Technical (If Applicable)	- Princeptical Company		Rate Amount		for Rejection//Acceptances per Rule 35 of AJK PPRA Rules 2017	
M/S Waseem Traders	65	N/A	16	510/-	8160/-	Accepted Being First Lowest being	
M/S Medicamp International	80	N/A	16	780/-	12480/-	Second lowest bid.	
Lowest Evaluate	d Bidder		2			M/S Waseem Traders	

Official Stamp:\_\_\_\_

State Fresh Office

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K)

2- Method Of Procurement

Open Competitive Bidding
(Single stage-Two Envelope Procedure)

3- Title of Procurement

Unani Medicines

4- Tender Inquiry No

AJK-MR-100-N-2020

Daily Nawaiwaqt islamabad 25-11-2020

5- PPRA Ref. No.(TSE)

2222

6- Date& Time of Bid Closing

14-12-2020 -11AM 14-12-2020 -11:30 AM

7- Date& Time of Bid Opening8- No. Of Bids Received

01

9- Criteria For Bid Evaluation

TECHNICAL & FINANCIAL

10- Deatails of Bid (s) Evaluation

As under

21	,								
I	پیکنگ. 120 ملی لیٹر		اکسیر جگرسیرپ	يثم نمبر.2	أنب		S.No:1		
ı	Name of Bidder	Marks			Evalution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Basis		
ı		Technical	Financial	1	` '		for Rejection//Acceptances per		
Ì		(lf	(If Applicable)	Otv	Rate	Amount	Rule 35 of AJK PPRA Rules,2017		
ı		Applicable)							
ı	M/S Waseem	65	N/A	120	133/-	15960/-	Single Responsive Bidder		
ı	Traders								
١	Lowest Evaluated Bidder M/S Waseem Traders								

0.						
نگ. بيکان ۱۱۸ کواليان	ېيك	حب عنبری مومیانی	أنيثم نمبر.3			S.No:2
Nymelds Bidder Marks			E	valution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
1/1/1/	Technical	Financial			,	for Rejection//Acceptances per
1/6/	(If	(If Applicable)	Otv	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)		<b>C</b> -3			
M/S Waseem	65	N/A	30 Pkt	342/-	10260/-	Single Responsive Bidder
Traders						
Lowest Evaluated	Ridder					M/S Waseem Traders

پیکنگ. 25 سائسے	انده	يڻم نمبر.7 جوبرجوشہ	آذ			S.No:3				
Name of Bidder	Marks		Ev	alution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis				
	Technical	Financial				for Rejection//Acceptances per				
	(If Applicable)	(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017				
M S Waseem	65	N/A	10 Pack	342/-	3420/-	Single Responsive Bidder				
Traders										
Lowest Evaluated	Lowest Evaluated Bidder M/S Waseem Traders									

پيكنگ. 100 گولياں	ى	م نمبر . 8 حب كبدنوشان		S.No:4						
Name of Bidder	Ma	rks	Eva	lution C	Cost (Rs)	Rule/Regulation/SBD/Policy/Basis				
	Technical	Financial				for Rejection//Acceptances per				
	(If	(If Applicable)	Otv	Rate	Amount	Rule 35 of AJK PPRA Rules,2017				
	Applicable)									
M/S Waseem	65	N/A	132 Pack	81/-	10692/-	Single Responsive Bidder				
Traders										
Lowest Evaluated	Lowest Evaluated Bidder M/S Waseem Traders									

پیکنگ. 20 گول	پيچش	آنيڻم نمبر.11 حب				S.No:5				
Name of Bidder	Marks		E	valution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis				
	Technical	echnical Financial				for Rejection//Acceptances per				
	(If	(If Applicable)	Otv	Rate	Amount	Rule 35 of AJK PPRA Rules,2017				
	Applicable)		( )							
M M'S Waseem	65	N/A	30 Pack	43/-	1290/-	Single Responsive Bidder				
Traders										
Lowest Evaluate	Lowest Evaluated Bidder M/S Waseem Traders									

S.No:6 أنيِثْم نمبر. 12 سرفي كول بلس									
Name of Bidder	Marks Technical Financial		Eva	lution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per			
	(If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017			
M/S Waseem Traders	65	N/A	180 Bottle	71/-	12780/-	Single Responsive Bidder			

owest Evaluated	Ridden					
west Evaluated	Didder					M/S Waseem Traders
پیکنگ. 100گرا	ن ساده	بر.14 خميره گاوزبار	آنیِٹم نہ			S.No:7
ame of Bidder	Marl		Eval	lution Cost	(Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical	Financial				for Rejection//Acceptances per
	(lf Applicable)	(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
1 S Waseem	65	N/A	60 Bottle	109.25/-	6555/-	Single Responsive Bidder
raders owest Evaluated	D: 4.1					
owest Evaluated	bluder					M/S Waseem Traders
پیکنگ، 20 گولم	سرفہ	أنيام نمبر.16 حب				S.No:8
ame of Bidder	Mar		Eva	lution Cost	t (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If	Financial (If Applicable)	04-	D . 4 .		for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
	Applicable)	(Il ripplicable)	Qty	Rate	Amount	Kuie oo orrion 7 mm managara
A S Waseem Traders	65	N/A	140 Pack	19/-	2660/-	Single Responsive Bidder
owest Evaluated	i Bidder					M/S Waseem Traders
						C NIO
پیکنگ، (5گرام		نيثم نمبر.17 معجون		1-4' 6	4 (D.)	S.No:9 Rule/Regulation/SBD/Policy/Basi
Name of Bidder	Mar Technical	rks Financial	j Eva	lution Cos	τ (KS)	for Rejection//Acceptances per
	(lf	(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
MC Warren	Applicable)	NIA			3990/-	Single Responsive Bidder
M/S Waseem Traders	65	N/A	30 Bottle	133/-	3790/-	
Lowest Evaluate	d Bidder		•			M/S Waseem Traders
نگ. ( ایریمینی کیش	e	.19 گيسڻو فل سيرپ				S.No:10
V. A Dalder				alution Cos	t (Rs)	Rule/Regulation/SBD/Policy/Basi
UZM S	Technical	Financial	1 2		(2-2)	for Rejection//Acceptances per
		(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
The ( Bearing	(lf	(II Applicable)	Qiy	Rate	7111104111	
M S Waseem	(lf Applicable) 65	N/A	200 Bottle	95/-	19000/-	Single Responsive Bidder
M S Waseem Traders	Applicable) 65					
M S Waseem Traders	Applicable) 65					M/S Waseem Trader
M S Waseem Traders	Applicable) 65 ed Bidder	N/A	200 Bottle	95/-	19000/-	M/S Waseem Trader
M S Waseem Fraders Lowest Evaluate	Applicable) 65 ed Bidder  بارک Ma	N/A نیٹم نمبر 21 سپاری ہ	200 Bottle		19000/-	M/S Waseem Trader S.No:1 Rule/Regulation/SBD/Policy/Basi
M S Waseem Fraders Lowest Evaluate پیکنگ ، 100 گرام	Applicable) 65 ed Bidder  بارک Ma	N/A تیٹم نمبر 21 سپاری ہ irks   Financial	200 Bottle	95/- alution Cos	19000/- st (Rs)	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام	Applicable) 65 ed Bidder  بارک Ma Technical (If	N/A نیٹم نمبر 21 سپاری ہ	200 Bottle  Eva	95/- alution Cos Rate	19000/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'
M S Waseem Fraders Lowest Evaluate پیکنگ ، 100 گرام Name of Bidder	Applicable) 65 ed Bidder  بارک Ma	N/A تیٹم نمبر 21 سپاری ہ irks   Financial	200 Bottle	95/- alution Cos	19000/- st (Rs)	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ ، 100 گرام Name of Bidder M S Waseem Traders	Applicable) 65 ed Bidder  Ma Technical (If Applicable) 65	N/A سپاری ب irks Financial (If Applicable)	200 Bottle  Eva	95/- alution Cos Rate	19000/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M S Waseem Fraders Lowest Evaluate پیکنگ ، 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluate	Applicable) 65 ed Bidder  Ma Technical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ rrks Financial (If Applicable) N/A	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate	19000/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluat	Applicable) 65 ed Bidder  Ma Technical (If Applicable) 65 ed Bidder	N/A سپاری ب irks Financial (If Applicable) N/A	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate 123.5/-	19000/- st (Rs) Amount 4940/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12
M S Waseem Fraders Lowest Evaluate پیکنگ ، 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluate	Applicable) 65 ed Bidder  Ma Technical (If Applicable) 65 ed Bidder	N/A سپاری ب irks Financial (If Applicable) N/A	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate	19000/- st (Rs) Amount 4940/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluat	Applicable) 65 ed Bidder  Ma Technical (If Applicable) 65 ed Bidder	N/A سپاری ب irks Financial (If Applicable) N/A	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate 123.5/-	19000/- st (Rs) Amount 4940/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluat کنگ . 60ملی لیثر Name of Bidder	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable)  Technical (If Applicable)	N/A  N/A  inks  Financial (If Applicable)  N/A  22. اکسیر پیچس	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate 123.5/- alution Cos	19000/- st (Rs) Amount 4940/- st (Rs)	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluate کنگ . 60ملی لیثر Name of Bidder M S Waseem Traders	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ irks Financial (If Applicable) N/A	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate 123.5/- alution Cos	19000/- st (Rs) Amount 4940/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluat کنگ . 60ملی لیثر Name of Bidder	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	N/A  N/A  inks  Financial (If Applicable)  N/A  22. اکسیر پیچس	200 Bottle  Eva  Qty  40 Bottle	95/- alution Cos Rate 123.5/- alution Cos	19000/- st (Rs) Amount 4940/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders
الله الله الله الله الله الله الله الله	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65	N/A  N/A  inks  Financial (If Applicable)  N/A  22. اکسیر پیچس	200 Bottle  Eva  Qty  40 Bottle  Eva  Cty  Cty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/-	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Single Responsive Bidder  M/S Waseem Traders  S.No:1
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder M S Waseem Traders Lowest Evaluate کنگ . 60ملی لیثر Name of Bidder	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ted Bidder	N/A  N/A  21. سپاری و  nrks  Financial (If Applicable)  N/A  Arks  Financial (If Applicable)  N/A  N/A  Separate Separa	200 Bottle  Eva  Qty  40 Bottle  Eva  Cty  Cty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Basi
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder  M S Waseem Traders Lowest Evaluate  شنگ . 60 ملی لیش Name of Bidder  M S Waseem Iraders Lowest Evaluate  منگ . 100 گرام	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable)  N/A  If Applicable N/A  If Applicable N/A  If Applicable N/A  If Applicable N/A	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/-	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder  M S Waseem Traders Lowest Evaluate  شنگ . 60سلی لیش Name of Bidder  M S Waseem Iraders Lowest Evaluate  منگ . 100 گرام	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ted Bidder	N/A  N/A  21. سپاری و  nrks  Financial (If Applicable)  N/A  Arks  Financial (If Applicable)  N/A  N/A  Separate Separa	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'
M S Waseem Fraders Lowest Evaluate  الله الله الله الله الله الله الله الل	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable)  N/A  If Applicable N/A  If Applicable N/A  If Applicable N/A  If Applicable N/A	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per
M S Waseem Fraders Lowest Evaluate پیکنگ . 100 گرام Name of Bidder  M S Waseem Traders Lowest Evaluat  منگ . 60 ملی لیثر Name of Bidder  M S Waseem traders Lowest Evaluat	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	انیٹم نمبر 21 سپاری ہ irks Financial (If Applicable) N/A  Arks Financial (If Applicable) N/A  If Applicable)  N/A  Arks Financial (If Applicable)  If Applicable)	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Single Responsive Bidder  M/S Waseem Traders  S.No:1  Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Single Responsive Bidder
الله الله الله الله الله الله الله الله	Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable)  N/A  Tight in June 122.  The property of the pr	النية Eva Qty 40 Bottle Eva Qty 40 Bottle Eva Qty 60 Bottle Eva Qty 100 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount	M/S Waseem Traders  S.No:1 Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201' Single Responsive Bidder  M/S Waseem Traders  S.No:12 Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201' Single Responsive Bidder  M/S Waseem Traders  S.No:1 Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201' Single Responsive Bidder  M/S Waseem Traders
الم S Waseem Traders  Lowest Evaluate  الم	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 eted Bidder  Technical (If Applicable) 65 eted Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable) N/A  Supply 29. اکسیر پیچس In Applicable (If Applicable) N/A  Supply 29. اکسیر پیچس In Applicable (If Applicable)	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle  Eva  Qty  100 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount 33250/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1:  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201'  Single Responsive Bidder  M/S Waseem Traders  S.No:1:  Single Responsive Bidder
الم S Waseem Traders  Lowest Evaluate  M S Waseem Traders  Lowest Evaluate  M S Waseem Traders  Lowest Evaluate  M S Waseem Iraders  Lowest Evaluate  M S Waseem Iraders  Lowest Evaluate  A S Waseem Iraders  Lowest Evaluate  M S Waseem Iraders	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ rks Financial (If Applicable)  N/A  Arks Financial (If Applicable)  N/A  آئیٹم نمبر۔29 لبوب کہ  arks Financial (If Applicable)  N/A   Arks Financial (If Applicable)  N/A   arks Financial	200 Bottle  Eva  Qty  40 Bottle  Eva  Qty  60 Bottle  Eva  Qty  100 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount 33250/-	S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:14  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders
الم S Waseem Traders  Lowest Evaluate  الم	Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Lechnical (If Applicable) 65 ed Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable) N/A  Supply 29. اکسیر پیچس In Applicable (If Applicable) N/A  Supply 29. اکسیر پیچس In Applicable (If Applicable)	Eva Qty 40 Bottle Eva Qty 40 Bottle Eva Qty 100 Bottle Eva Qty 100 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/- st (Rs) Amount 4940/- st (Rs) Amount 4560/- st (Rs) Amount 33250/-	M/S Waseem Trader  S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:14  Rule/Regulation/SBD/Policy/Basi S.No:14
الم S Waseem Traders  Lowest Evaluate  الم	Applicable) 65 ed Bidder  Technical (If Applicable) 65 ed Bidder  Technical (If Applicable) 65 eted Bidder  Technical (If Applicable) 65 eted Bidder  Technical (If Applicable) 65 eted Bidder	انیٹم نمبر۔21 سپاری ہ Irks Financial (If Applicable) N/A  Arks Financial (If Applicable)  N/A  Itarks Financial (If Applicable)  N/A  Arks Financial (If Applicable)  N/A  Itarks Financial	Eva Qty 40 Bottle Eva Qty 40 Bottle Eva Qty 100 Bottle Eva Qty 100 Bottle Eva Qty 100 Bottle	95/- alution Cos Rate 123.5/- alution Cos Rate 76/- valution Co	19000/-  st (Rs)  Amount 4940/-  st (Rs)  Amount 4560/-  st (Rs)  Amount 33250/-	S.No:1  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:12  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders  S.No:14  Rule/Regulation/SBD/Policy/Basi for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Single Responsive Bidder  M/S Waseem Traders

Second Se						
Page 5 of	19					
, ingress	•					
Traders						
Lowest Evaluated	Bidder			-		M/S Waseem Traders
	The state of the s					
نگ. 750 ملی لیٹر	تدل پیک	32 شربت بزوری مع	أنيثم نمير.			S.No:15
Name of Bidder	Mar	THE RESERVE THE PERSON NAMED IN COLUMN 2 IS NOT THE OWNER, THE PERSON NAMED IN THE PERSON NAMED IN THE PERSON NAMED IN		lution Cos	t (Rs)	Rule/Regulation/SBD/Policy/Basis
water or Dione.	Technical	Financial	Eva	iution Cos	(143)	for Rejection//Acceptances per
	(If	(If Applicable)	Otto	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	(marppineaete)	Qty	Rate	Amount	
M S Waseem	65	N/A	10 Bottle	218.50/-	2185/-	Single Responsive Bidder
Traders		1,77.				
Lowest Evaluated	Bidder					M/S Waseem Traders
tion to the time to						
			h .7			S.No:16
نگ. 800 ملى ليٿر		نمبر.34 عرقى باديان			· (D.)	Rule/Regulation/SBD/Policy/Basis
Name of Bidder	Mar		_ Eva	lution Cos	t (Rs)	for Rejection//Acceptances per
	Technical	Financial				Rule 35 of AJK PPRA Rules,2017
	(lf	(If Applicable)	Qty	Rate	Amount	Kule 55 of Agree 1 for the states,
	Applicable)		20.0	1.52/	1560/	Single Responsive Bidder
M/S Waseem	65	N/A	30 Bottle	152/-	4560/-	Single Responsive Didder
Traders						M/S Waseem Traders
Lowest Evaluated	1 Bidder					
	4		h 17			S.No:17
نگ. 120 ملی لیٹر		نمبر.35 شربت فولاد			4 (Da)	Rule/Regulation/SBD/Policy/Basis
Name of Bidder	Mar		Eva	lution Cos	t (RS)	for Rejection//Acceptances per
	Technical	Financial				Rule 35 of AJK PPRA Rules,2017
	(If	(If Applicable)	Qty	Rate	Amount	Rule 55 of Fisher
140 W	Applicable)	NI/A	50 Bottle	142.50/-	7125/-	Single Responsive Bidder
M/S Waseem	65	N/A	30 Bottle	142.50/-	71237	
Traders Lowest Evaluate	d Ridder					M/S Waseem Traders
Lowest Evaluates	ı Diddei					
ىنىگ . 120 ملى لىيىثر	^	ر.36 شربت توت سيا	أنبثه نمي			S.No:18
Name of Bidder	Mai			Evalution	Cost (Rs)	Rule/Regulation/SBD/Policy/Basis
Name of Bidder	Technical	Financial	1	Evaluation	(210)	for Rejection//Acceptances per
	(If	(If Applicable)	04-1	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	(II Applicable)	Qty	Kate	Amount	
M/S Waseem	65	N/A	50 Bottle	95/-	4750/-	Single Responsive Bidder
Traders	0.5	10/4				
Lowest Evaluate	d Bidder					M/S Waseem Traders
Doller Dilling						
پیکنگ. 60گرام	معدد	نمبر.39 سفوف تخبير	أنيثم			S.No:19
Name of Bidder	Mai			lution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Basis
Maine of Bidder	Technical	Financial	1		,	for Rejection//Acceptances per
	(If	(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	(,	Qij	Rate	7 mount	
M/S Waseem	65	N/A	30 Bottle	142.50/-	4275/-	Single Responsive Bidder
Traders	0.5	1 11/2				
Lowest Evaluated	d Bidder		1			M/S Waseem Trader
Bowest Evaluates	a Diago					
كنگ. 175 ملى ليٹر	في ب	أنيثم نمبر.40 صا				S.No:20
Name of Bidder	Mai Mai		Eva	lution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Basi
Tame of Bidger	Technical	Financial	1 ~~~		/	for Rejection//Acceptances per
	(If	(If Applicable)	Oty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	(	Qty	Mate	Amount	
M/S Waseem	65	N/A	150 Bottle	76/-	11400/-	Single Responsive Bidder
Traders	33	1777				
Lowest Evaluate	d Bidder					M/S Waseem Trader
Lonest Litaruate	. Drawei					

District Health Officer Mirpur (A.K.)

Official Stamp:\_\_\_\_

(As per Rule 35 of Public Procurement Rules, 2017)

1- Name of Procuring Agency

**District Health Officer Office Mirpur (A.K)** 

2- Method Of Procurement

Open Competitive Bidding (Single stage-Two Envelope Procedure)

3- Title of Procurement

Surgical/Medical Equipment

4- Tender Inquiry No

AJK-MR-100-N-2020

5- PPRA Ref. No.(TSE)

Daily Nawaiwaqt islamabad 25-11-2020

6- Date& Time of Bid Closing

2222

7- Date& Time of Bid Opening

14-12-2020 -11AM 14-12-2020 -11:30 AM

8- No. Of Bids Received

03

9- Criteria For Bid Evaluation 10-Deatails of Bid (s) Evaluation **TECHNICAL & FINANCIAL** 

As under

S.No: 1 Item No:-2 Sterilizer ss (Small electric pak made) Name of Bidder Marks Evalution Cost (Rs) Rule/Regulation/SBD/Policy/Basis Technical Financial for Rejection//Acceptances per Rule (If Applicable) (If Applicable) Qty Rate Amount 35 of AJK PPRA Rules,2017 M/S Medicamp 80 N/A 2175/-63075/-Accepted Being First Lowest being Distributors M/S Waseem N/A 29 3000/-87000/-Second lowest bid. Traders M/S Ijaz Nil Nil Nil Rejected due to less Bid Security. Enterprises Lowest Evaluated Bidder M/S Medicamp Distributors

S.No: 2		Item No:-3 So	cissers 6"	(Pak made)		
Name of Bidder	Mark			Evalution Cos		Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributors	80	N/A	31	220/-	6820/-	Accepted Being First Lowest being
M/S Waseem Traders	65	N/A	31	285/-	8835/-	Second lowest bid.
M'S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/C M I'
S.No: 3	1	tem No:-4 Up	ner Strai	ight Forceps		M/S Medicamp Distributor
Name of Bidder	Mark			Evalution Cos	et (De)	D. 1 /D. 1 / 1 / 2
-	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributors	80	N/A	08	725/-	5800/-	Accepted Being First Lowest being
M/S Waseem Traders	65	N/A	08	765/-	6120/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.

S.No: 4 Name of Bidder		Item No:-5 L	ower Ba	by Crown Fo		
or Bluder	Mark Technical	S Financial		Evalution	n Cost (Rs)	Rule/Regulation/SBD/Policy/Basis
M/S Madi	(If Applicable)	(If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M'S Medicamp Distributors	80	N/A	04	690/-	2760/-	Accepted Being First Lowest being
M/S Waseem Traders	65	N/A	04	742/-	2968/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder	M/S	 Medican	np Distributo	rs	and occurry.

M/S Medicamp Distributors

S.No: 5		tem No:-6 L	ower Bl	DR Baby Ford	eps	To the second se
Name of Bidder	Mark			Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rul
	(If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	35 of AJK PPRA Rules,2017
M S Medicamp Distributors	80	N/A	04	690/-	2760/-	Accepted Being First Lowest being
M S Waseem Traders	65	N/A	04	742/-	2968/-	Second lowest bid.
M S ljaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.  M/S Medicamp Distributo

S.No: 6		tem No:-7 U		by Crown Fo		Rule/Regulation/SBD/Policy/Basis
Name of Bidder	Mark	is		Evalution Co	st (Rs)	for Rejection//Acceptances per Rule
Technica	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	35 of AJK PPRA Rules,2017 Accepted Being First Lowest being
M S Medicamp Distributors	80	N/A	04	690/-	2760/-	
M/S Waseem Traders	65	N/A	04	742/-	2968/-	Second lowest bid.
M S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises Lowest Evaluated						M/S Medicamp Distributors

S. Nolt		Item No:-8	pper Pr	e Molar Bab	y Forceps	Rule/Regulation/SBD/Policy/Basis
Yahie of Bidder	Ma	Marks		Evalution Co	st (Rs)	for Rejection//Acceptances per Rule
	Technical (If	Financial (If Applicable)	Qty	Rate	Amount	35 of AJK PPRA Rules,2017
M'S Medicamp	Applicable) 80	N/A	04	690/-	2760/-	Accepted Being First Lowest being
Distributors M S Waseem	65	N/A	04	742/-	2968/-	Second lowest bid.
Traders M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security
Enterprises Lowest Evaluated						M/S Medicamp Distributor

S.No: 8		Item No:-9 U		aight Baby F		CDD/Dallas/Dasis
		rks	]	Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
Nume of Blues	Technical (If	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp	Applicable) 80	N/A	04	690/-	2760/-	Accepted Being First Lowest being
Distributors M/S Waseem Traders	65	N/A	04	742/-	2968/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Medicamp Distributors

S.No: 9		Item No:-10		Cheatle Forceps		
Name of Bidder	Name of Bidder Mar			Evalution Cost	t (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Medicamp Distributors	80	N/A	10	610/-	6100/-	Accepted Being First Lowest being
M S Waseem Traders	65	N/A	10	675/-	6750/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Medicamp Distributors

S.No: 10		Item No:-13 B	.P Set A	oparatus Merc	curial model	100
Name of Bidder	Ma	rks		Evalution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical	Financial	1			for Rejection//Acceptances per
	(If	(If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)					
M/S Waseem	65	N/A	19	5850/-	111150/-	Accepted Being First Lowest being
Traders						
M/S Medicamp	80	N/A	19	29725/-	564775/-	Second lowest bid.
Distributors						

### Page 8 of 19

M.S. Ijaz	Nil	Nil	Nil	Rejected due to less Bid Security.
Enterprises				
Lowest Evalua	ted Bidder			M/S Waseem Traders

S.No: 11		Item No:-15 Se				1 (GDD/D-Hay/Pasis
(lf	Ma	rks		<b>Evalution Co</b>	st (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M S Waseem Traders	65	N/A	20	1335/-	26700/-	Accepted Being First Lowest being
M S Medicamp Distributors	80	N/A	20	2685/-	53700/-	Second lowest bid.
M S ljaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	l Ridder					M/S Waseem Trade

S.No: 12		Item No:-20 D	rip Stan			Rule/Regulation/SBD/Policy/Basis
Name of Bidder	Ma	rks		Evalution Co	st (Rs)	for Rejection//Acceptances per
Tect (If	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
M'S Waseem	65	N/A	10	4350/-	43500/-	Single Responsive Bidder
Traders						Rejected due to less Bid Security.
M/S ljaz	Nil	Nil		Nil		Rejected due to less bld seeming.
Enterprises /						M/S Waseem Traders
Lowest Evaluated	l Bidder					

111111111111111111111111111111111111111						
S(No: 13)		Item No:-29 U	pper M	lolar Forceps I		CDD/Deliay/Dasis
Name of Bidder	Marks		Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Basis
Mende (A.M.)	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem	65	N/A	04	765/-	3060/-	Accepted Being First Lowest being
Traders M/S Medicamp Distributors	80	N/A	04	790/-	3160/-	Second lowest bid.
M S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

S.No: 14		Item No:-30	Upper I	Molar Forceps	s Lt.	
Name of Bidder	Ma	rks		Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty Rate Amount		Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	04	765/-	3060/-	Accepted Being First Lowest being
M/S Medicamp Distributors	80	N/A	04	790/-	3160/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil	1	Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

S.No: 15		Item No:-31 L	ower Mo	olar Forceps		
Name of Bidder	Ma			Evalution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical Financial (If Applical Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	04	765/-	3060/-	Accepted Being First Lowest being
M/S Medicamp Distributors	80	N/A	04	790/-	3160/-	Second lowest bid.
M/S/Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	l Bidder		-			M/S Waseem Traders

S.No: 16		Item No:-32 L	ower Pr	e Molar Force		
Name of Bidder	Ma	rks		Evalution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis
Traine or Disaster	Technical (If	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem	Applicable) 65	N/A	04	765/-	3060/-	Accepted Being First Lowest being
M S Medicamp	80	N/A	04	770/-	3080/-	Second lowest bid.
Distributors M S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises  Lowest Evaluated	Ridder					M/S Waseem Traders

1	tem No:-33 Lo	wer BD	R Forceps		GDD/Dallay/Dasis
Marks			Evalution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Basis
Technical (If	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
65	N/A	04	765/-	3060/-	Accepted Being First Lowest being
80	N/A	04	770/-	3080/-	Second lowest bid.
Nil	Nil		Nil		Rejected due to less Bid Security.
Riddor					M/S Waseem Traders
	Technical (If Applicable) 65	Technical (If Applicable) Applicable)  65 N/A  80 N/A  Nil Nil	Technical (If Applicable) Qty Applicable) N/A 04  80 N/A 04  Nil Nil	Technical (If Applicable)         Financial (If Applicable)         Qty         Rate           65         N/A         04         765/-           80         N/A         04         770/-           Nil         Nil         Nil         Nil	Technical (If Applicable)         Financial (If Applicable)         Qty         Rate         Amount           65         N/A         04         765/- 3060/-           80         N/A         04         770/- 3080/-           Nil         Nil         Nil

S.Non 18		Item No:-34 U	pper Bl	OR Forceps		CDD/Policy/Posis			
Name of Bidder	Ma	rks		Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis			
Waseem	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017			
N S Waseem Traders	65	N/A	04	765/-	3060/-	Accepted Being First Lowest being			
M/S Medicamp Distributors	80	N/A	04	790/-	3160/-	Second lowest bid.			
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.			
	Enterprises  Lowest Evaluated Bidder  M/S Waseem Traders								

S.No: 19	•	Item No:-36 St	traight l	Elevator		
Name of Bidder	Ma	rks		Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	06	375/-	2250/-	Accepted Being First Lowest being
M'S Medicamp Distributors	80	N/A	06	410/-	2460/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

S.No: 20		Item No:-37 Cl				
Name of Bidder	Ma	rks		Evalution C	ost (Rs)	Rule/Regulation/SBD/Policy/Basis
Technical (If Applicable)		Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	04	600/-	2400/-	Accepted Being First Lowest being
M/S Medicamp Distributors	80	N/A	04	890/-	3560/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder	•				M/S Waseem Traders

District Health Officer
Mirpur (4.K.)

(As per Rule 35 of Public Procurement Rules, 2017)

**District Health Officer Office Mirpur (A.K)** 1- Name of Procuring Agency

**Open Competitive Bidding** 2- Method Of Procurement

(Single stage-Two Envelope Procedure) **Dental Medicine & Allied Material** 3- Title of Procurement

AJK-MR-100-N-2020 4- Tender Inquiry No

Daily Nawaiwaqt islamabad 25-11-2020

5- PPRA Ref. No.(TSE) 2222

6- Date& Time of Bid Closing 14-12-2020 -11AM 7- Date& Time of Bid Opening 14-12-2020 -11:30 AM 02

8- No. Of Bids Received

9- Criteria For Bid Evaluation **TECHNICAL & FINANCIAL** 

10- Deatails of Bid (s) Evaluation As under									
	Item No:-3	Glass Ionomer (GC)Type II							
M	arks	I	Evalution Cost	(Rs)	Rule/Regulation/SBD/Policy/Basis				
Technical	Financial				for Rejection//Acceptances per				
(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017				
Applicable)	Applicable)								
65	N/A	08	4800/-	38400/-	Accepted Being First Lowest being				
Nil	Nil		Nil		Rejected due to less Bid Security.				
					-				
d Bidder					M/S Waseem Traders				
	Item No:-4	Pulpy	ral						
M	arks				Rule/Regulation/SBD/Policy/Basis				
Technical	Financial				for Rejection//Acceptances per				
(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017				
Applicable)	Applicable)								
65	N/A	04	6480/-	25920/-	Accepted Being First Lowest being				
Nil	Nil		Nil	•	Rejected due to less Bid Security.				
d Bidder					M/S Waseem Traders				
	M Technical (If Applicable) 65 Nil d Bidder  M Technical (If Applicable) 65	Item No:-3  Marks  Technical (If (If Applicable) Applicable) 65 N/A  Nil Nil Nil  d Bidder  Item No:-4  Marks  Technical (If (If Applicable) Applicable) 65 N/A  Nil Nil Nil  Nil Nil (If Applicable) Applicable) 65 N/A	Item No:-3 Glass  Marks  Technical (If (If Qty Applicable) Applicable)  65 N/A 08  Nil Nil Nil dBidder  Item No:-4 Pulpy Marks  Technical (If (If Qty Applicable) Qty Applicable) Applicable)  Technical (If Qty Applicable) Qty Applicable) Applicable)  Nil Nil Nil	Item No:-3   Glass Ionomer (GC)	Item No:-3   Glass Ionomer (GC)Type II				

S.No: 3		Item No:-6	Endo	omethasone		
Name of Bidder	of Bidder Marks			<b>Evalution Cost</b>	(Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (lf Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	03	21000/-	63000/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluate Traders	d Bidder					M/S Waseem

S.No: 4	S.No: 4 Item No:-11			H-Files 15	5-40 (21mm)	6s Packet		
Name of Bidder	M	arks	Eva	lution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Basis		
	Technical	Financial				for Rejection//Acceptances per		
	(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017		
	Applicable)	Applicable)				20		
M/S Waseem Traders	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest being		
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.		
Lowest Evaluate	Lowest Evaluated Bidder M/S Wascem Trad							

S.No: 5		Item No:-12	Reamer	H-Files 14	5-40(25mm)	6s Packet
Name of Bidder	M	arks		lution Cos		Rule/Regulation/SBD/Policy/Bas
	Technical	Financial	2	nution Cos	it (Its)	for Rejection//Acceptances per
	(lf	(lf	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,201
	Applicable)	Applicable)	V.,	Rate	Amount	Rule 33 of ASIC 11 RA Rules,201
M/S Waseem	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest bein
Traders		1.77.1	02 Fack	3/3/-	730/-	Accepted being rist Lowest bein
M/S ljaz	Nil	Nil		211		D' - II - I D'IC '
Enterprises		NII		Nil		Rejected due to less Bid Security.
Lowest Evaluate	d Riddon					
Lowest Evaluate	u bluder					M/S Waseem Trader
S.No: 6		Item No:-13	Dogmon	H Files 46	5-80(21mm)	6s Packet
Name of Bidder		arks				Rule/Regulation/SBD/Policy/Bas
or Diader	Technical	Financial	Eva	lution Cos	it (RS)	
	(If			ъ.		for Rejection//Acceptances per
	, ,	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,201
140 114	Applicable)	Applicable)				
M/S Waseem	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest bein
Traders						
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises						
Lowest, Evaluate	d Bidder					M/S Waseem Trader
0.1/6						
S. 6: 1		Item No:-14	Daaman	II Elles 45	(00/25)	6s Packet
ATT COLL					5-80(25mm)	Rule/Regulation/SBD/Policy/Bas
hime of Bidder		arks	Eva	lution Cos	t (Rs)	
Name of Bidder	Technical	Financial				for Rejection//Acceptances per
15 Co.	(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,201
W. C.	Applicable)	Applicable)				
M/S Waseem	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest bein
Traders				•		
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises	1111	1 1111				110,00100 000 10 1000 010 0000 1000
Lowest Evaluate	d Diddon					M/S Waseem Traders
Lowest Evaluate	a Blader					Wi/S Wascelli Traders
				** ***	10 (01	( P ) (
S.No: 8		Item No:-15			-40 (21mm)	6s Packet
Name of Bidder	M	arks	Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Basi
	Technical	Financial				for Rejection//Acceptances per
	(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,201
	Applicable)	Applicable)				
M/S Waseem	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest bein
Traders	0.5					
Traders	1			N1:1		Rejected due to less Bid Security.
	NU	NEL				rejected due to less bid seemity.
M/S Ijaz	Nil	Nil	- war	Nil		
M/S Ijaz Enterprises	4	Nil		NII		N/O.W. T. I
M/S Ijaz	4	Nil		NII		M/S Waseem Traders
M/S Ijaz Enterprises	4	Nil		a difference		M/S Waseem Traders
M/S Ijaz Enterprises <b>Lowest Evaluate</b>	d Bidder	Nil Item No:-16	Reamer	a difference	i-40(25mm)	M/S Waseem Traders
M/S ljaz Enterprises Lowest Evaluate S.No: 9	d Bidder	Item No:-16	Reamer	K-Files 15	i-40(25mm) n Cost (Rs)	6s Packet
M/S ljaz Enterprises Lowest Evaluate S.No: 9	d Bidder	Item No:-16	Reamer	K-Files 15		6s Packet Rule/Regulation/SBD/Policy/Bas
M/S ljaz Enterprises Lowest Evaluate S.No: 9	d Bidder  M Technical	Item No:-16 arks Financial		K-Files 15 Evalution	n Cost (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per
M/S ljaz Enterprises Lowest Evaluate S.No: 9	d Bidder  M Technical (If	Item No:-16 arks Financial (If	Reamer	K-Files 15		6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder	d Bidder  M Technical (If Applicable)	Item No:-16 arks Financial (If Applicable)	Qty	K-Files 15 Evalution	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder	d Bidder  M Technical (If	Item No:-16 arks Financial (If		K-Files 15 Evalution	n Cost (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S Ijaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder	d Bidder  M Technical (If Applicable)	Item No:-16 arks Financial (If Applicable) N/A	Qty	K-Files 15 Evalution Rate 375/-	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder	d Bidder  M Technical (If Applicable)	Item No:-16 arks Financial (If Applicable)	Qty	K-Files 15 Evalution	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz	d Bidder  M Technical (If Applicable) 65	Item No:-16 arks Financial (If Applicable) N/A	Qty	K-Files 15 Evalution Rate 375/-	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises	d Bidder  M Technical (If Applicable) 65	Item No:-16 arks Financial (If Applicable) N/A	Qty	K-Files 15 Evalution Rate 375/-	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest beir Rejected due to less Bid Security.
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises	d Bidder  M Technical (If Applicable) 65	Item No:-16 arks Financial (If Applicable) N/A	Qty	K-Files 15 Evalution Rate 375/-	Amount	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,20 Accepted Being First Lowest bein Rejected due to less Bid Security.
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate	d Bidder  M Technical (If Applicable) 65	Item No:-16 arks Financial (If Applicable) N/A Nil	Qty 02 Pack	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Trader
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate S.No: 10	d Bidder  M Technical (If Applicable) 65 Nil	Item No:-16 arks Financial (If Applicable) N/A Nil Item No:-17	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders 6s Packet
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate	d Bidder  M Technical (If Applicable) 65 Nil d Bidder	Item No:-16 arks Financial (If Applicable) N/A Nil Item No:-17	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate S.No: 10	d Bidder  M Technical (If Applicable) 65 Nil	Item No:-16 arks Financial (If Applicable) N/A Nil Item No:-17	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-45-80(21mm)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate S.No: 10	d Bidder  M Technical (If Applicable) 65 Nil d Bidder	Item No:-16 arks Financial (If Applicable) N/A Nil Item No:-17	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Trader  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per
M/S Ijaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluate S.No: 10	d Bidder  M Technical (If Applicable) 65 Nil d Bidder  M Technical (If	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-45-80(21mm)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per
M/S Ijaz Enterprises Lowest Evaluate  S.No: 9 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluate  S.No: 10 Name of Bidder	M Technical (If Applicable) 65 Nil d Bidder  M Technical (If Applicable) 1	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If Applicable)	Qty 02 Pack Reame Eva	K-Files 15 Evalution Rate 375/- Nil r K-Files - lution Cos	Amount 750/- 45-80(21mm) t (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S Ijaz Enterprises Lowest Evaluate  S.No: 9 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluate  S.No: 10 Name of Bidder	d Bidder  M Technical (If Applicable) 65 Nil d Bidder  M Technical (If	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If	Qty 02 Pack Reame	K-Files 15 Evalution Rate 375/- Nil	Amount 750/-45-80(21mm)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S Ijaz Enterprises Lowest Evaluate  S.No: 9 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluate  S.No: 10 Name of Bidder	M Technical (If Applicable) 65 Nil d Bidder  M Technical (If Applicable) 65	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If Applicable) N/A	Qty 02 Pack Reame Eva	K-Files 15 Evalution Rate 375/- Nil  r K-Files - lution Cos Rate 375/-	Amount 750/- 45-80(21mm) t (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Accepted Being First Lowest bein
M/S ljaz Enterprises Lowest Evaluate S.No: 9 Name of Bidder  M/S Waseem Traders M/S ljaz Enterprises Lowest Evaluate S.No: 10 Name of Bidder  M/S Waseem Traders M/S ljaz	M Technical (If Applicable) 65 Nil d Bidder  M Technical (If Applicable) 1	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If Applicable)	Qty 02 Pack Reame Eva	K-Files 15 Evalution Rate 375/- Nil r K-Files - lution Cos	Amount 750/- 45-80(21mm) t (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201
M/S Ijaz Enterprises Lowest Evaluate  S.No: 9 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluate  S.No: 10 Name of Bidder  M/S Waseem Traders	M Technical (If Applicable) 65 Nil d Bidder  M Technical (If Applicable) 65 Nil of Bidder  M Technical (If Applicable) 65 Nil	Item No:-16 arks Financial (If Applicable) N/A Nil  Item No:-17 arks Financial (If Applicable) N/A	Qty 02 Pack Reame Eva	K-Files 15 Evalution Rate 375/- Nil  r K-Files - lution Cos Rate 375/-	Amount 750/- 45-80(21mm) t (Rs)	6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201 Accepted Being First Lowest bein Rejected due to less Bid Security.  M/S Waseem Traders  6s Packet Rule/Regulation/SBD/Policy/Bas for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,201  Accepted Being First Lowest bein

S.No: 11		Item No:-18	Reame	r K-Files	45-80(25mm)	6s Packet
Name of Bidder	M	arks	Eva	lution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	02 Pack	375/-	750/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluate	d Bidder					M/S Waseem Traders

S.No: 12		Item No:-19	Diamo	nd Burs R	ound Bur	
Name of Bidder	M	arks		Evalutio	n Cost (Rs)	Rule/Regulation/SBD/Policy/Basis
	Technical	Financial				for Rejection//Acceptances per
	(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
	Applicable)	Applicable)				
M/S Waseem	65	N/A	12 Piece	75/-	900/-	Accepted Being First Lowest being
Traders						
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises						T 1
Lowest Evaluate	d Bidder					M/S Waseem Traders

. 1	MY (						
S.Noz	///3)		Item No:-20	Straigh	t Bur		
Name	Bidder	Marks			Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Basis
	7,0	Technical (If	Financial (If	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
Sept Str.	•	Applicable)	Applicable)			2221	A Deine First Lowest being
M/S V	Waseem	65	N/A	12 Piece	75/-	900/-	Accepted Being First Lowest being
Trade	ers						D I Leads loss Did Security
M/S	ljaz	Nil	Nil		Nil		Rejected due to less Bid Security.
	prises	1 Diddon					M/S Waseem Traders
Lowe	est Evaluate	a Biaaer					

S.No: 14		Item No:-21	Tapper	Fissure	~ (D)	D. L. /Dl-4's re/CDD/Dolloy/Posic
Name of Bidder	Marks			Evalution	on Cost (Rs)	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per
	Technical (If	Financial (If Applicable)	Qty	Rate	Amount	Rule 35 of AJK PPRA Rules,2017
M/S Waseem	Applicable) 60	N/A	01 Piece	75/-	75/-	Accepted Being First Lowest being
Traders M/S Ijaz	Nil	Nil		Nil	for the second second	Rejected due to less Bid Security.
Enterprises  Lowest Evaluate	d Bidder					M/S Waseem Traders

S.No: 15	H-	Item No:-22	Inverted			D. I. M. J. C. CDD /D. P /D. c. i.e.
Name of Bidder	M	arks	Eval	ution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per
	Technical Financial (If Qty Rate Amount	Rule 35 of AJK PPRA Rules,2017				
M/S Waseem	Applicable) 65	Applicable) N/A	12 Piece	75/-	900/-	Accepted Being First Lowest being
Traders M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises Lowest Evaluate	d Ridder					M/S Waseem Traders

S.No: 16 Item No:-23			Distilled water for autoclave 05 Liters				
Name of Bidder			Eval	ution Co	st (Rs)	Rule/Regulation/SBD/Policy/Basis	
	Technical (If	Financial (If	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017	
M/S Waseem	Applicable) 65	Applicable) N/A	24 Bottle	225/-	5400/-	Accepted Being First Lowest being	
Traders M/S ljaz	Nil	Nil		Nil		Rejected due to less Bid Security.	
Enterprises  Lowest Evaluate	d Bidder					M/S Waseem Traders	

S.No: 17		Item No:-24	Denta	al Needles fo	or anesthesia	(Small)
Name of Bidder		arks	E	valution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Basis
MC Wasser	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	16	825/-	13200/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluate	d Bidder					M/S Waseem Traders

S.No: 18		Item No:-25	Dental Needles for anesthesia (Large)					
Name of Bidder		arks		Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Basis		
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017		
M/S Waseem Traders	65	N/A	16	825/-	13200/-	Accepted Being First Lowest being		
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.		
LowestyEvaluate	d Bidder					M/S Waseem Traders		

S. 1/6? 1/9		Item No:-28	Dental	Napkin		
Nime of Bidder	M	Marks		Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Bas
Misory.	Technical	Financial				is for Rejection//Acceptances per
D. 3	(If	(lf	Qty	Rate	Amount	Rule 35 of AJK PPRA
et.	Applicable)	Applicable)				Rules,2017
M/S Waseem	65	N/A	04 Pack	1050/-	4200/-	Accepted Being First Lowest
Traders						being
M/S ljaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises						
Lowest Evaluate	d Bidder					M/S Waseem Traders

S.No: 20		Item No:-30	Steriliza	ation pouc	hes.	
Name of Bidder	M	arks	Eva	lution Cos	st (Rs)	Rule/Regulation/SBD/Policy/Bas
	Technical	Financial				is for Rejection//Acceptances per
	(If	(lf	Qty	Rate	Amount	Rule 35 of AJK PPRA
	Applicable)	Applicable)				Rules,2017
M/S Waseem	65	N/A	04 Pack	750/-	3000/-	Accepted Being First Lowest
Traders						being
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
Enterprises						
Lowest Evaluate	d Bidder					M/S Waseem Traders

S.No: 21		Item No:-31	Cavi	t Filling		Dis.			
Name of Bidder	Marks		I	Evalution Cos	t (Rs)	Rule/Regulation/SBD/Policy/Bas			
	Technical	Financial				is for Rejection//Acceptances per			
	(If	(If	Qty	Rate	Amount	Rule 35 of AJK PPRA			
	Applicable)	Applicable)				Rules,2017			
M/S Waseem	65	N/A	04	1050/-	4200/-	Accepted Being First Lowest			
Traders						being			
M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.			
Enterprises									
Lowest Evaluate	Lowest Evaluated Bidder  M/S Waseem Traders								

S.No: 22		Item No:-33	Face M	ask.		27F
Name of Bidder	Marks		Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Bas
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	is for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	15 Box	300/-	4500/-	Accepted Being First Lowest being
M/S ljaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluate	ed Bidder					M/S Waseem Traders

	10	- 13	10
Page	19	OL	19
I die			

S.No: 23 Name of Bidder	M	Item No:-36	Lignoc	aine Spray		
		Financial		Evalution	Cost (Rs)	Rule/Regulation/SBD/Policy/Bas
The second secon	(If Applicable)	(If Applicable)	Qty	Rate	Amount	is for Rejection//Acceptances per Rule 35 of AJK PPRA
M/S Waseem Traders	65	N/A	08	1500/-	12000/-	Rules,2017 Accepted Being First Lowest
M/S ljaz Enterprises	Nil	Nil		Nil		being Rejected due to less Bid Security.
Lowest Evaluate	d Bidder					M/S Wasaam Tradars

S.No: 24		Item No:-39	Hand	Piece Oil Sp	rav	
Name of Bidder	William			Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Bas
MOW	(If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	is for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	04	1050/-	4200/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluate	d Bidder					M/S Waseem Traders

Official Stamp:

(As per Rule 35 of Public Procurement Rules,2017)

1- Name of Procuring Agency

District Health Officer Office Mirpur (A.K)

2- Method Of Procurement

**Open Competitive Bidding** 

3- Title of Procurement

(Single stage-Two Envelope Procedure)

4- Tender Inquiry No

Laboratory Chemical/Kit

AJK-MR-100-N-2020

5- PPRA Ref. No.(TSE)

Daily Nawaiwaqt islamabad 25-11-2020

6- Date& Time of Bid Closing 7- Date& Time of Bid Opening 2222 14-12-2020 -11AM 14-12-2020 -11:30 AM

8- No. Of Bids Received

03

9- Criteria For Bid Evaluation

TECHNICAL & FINANCIAL

10- Deatails of Bid (s) Evaluation As under

5.N	0	:	l

5.110: 1	Itei	m No:-1	reatir	nine Kit 200ml		
Name of Bidder	Marks			<b>Evalution Cost</b>	(Rs)	Rule/Regulation/SBD/Policy/Ba
M/s D:	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Diagnostic Medical Associates	100	N/A	02	1110/-	2220/-	Accepted Being First Lowest
M/S Waseem Traders	65	N/A	02	3705/-	7410/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.

Lowest Evaluated Bidder

M/S Diagnostic Medical Associates

S.No: 2		n No:-2	Cholestr	ole Kit 500ml		
Name of Bidder		irks	Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Ba
	Technical (If	Financial			()	sis for Rejection//Acceptances
N410	Applicable)	(If Applicable)	Qty	Rate	Amount	per Rule 35 of AJK PPRA Rules,2017
M/S Diagnostic Medical Associates	100	N/A	02	4960/-	9920/-	Accepted Being First Lowest
M/S Waseem Traders	65	N/A	02	11100/-	22200/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil	A The other	Nil	DEPT THE	Rejected due to less Bid Security.
Lowest Evaluated B	idder					((C.D.)

M/S Diagnostic Medical Associates

S.No: 3			ic Acid	Kit 500ml		
Name of Bidder		irks		Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Ba
Maga	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Diagnostic Medical Associates	100	N/A	02	4400/-	8800/-	Accepted Being First Lowest being
M/S Waseem Traders	65	N/A	02	6450/-	12900/-	Second lowest bid.
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated B	Bidder				N	 I/S Diagnostic Medical Associates



	rks Financial	E	valution Cost	(Rs)	Rule/Regulation/SBD/Policy/Ba
	Financial				-: - f Delection // Acceptances
	(If	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
	N/A	02	1790/-	3580/-	Accepted Being First Lowest being
	N/A	02	3210/-	6420/-	Second lowest bid.  Rejected due to less Bid Security.
I	Nil		Nil		I/S Diagnostic Medical Associates
1		N/A N/A Nil	N/A 02  N/A 02  Nil	N/A 02 1790/- N/A 02 3210/- Nil Nil	N/A 02 1790/- 3580/-  N/A 02 3210/- 6420/-  Nil Nil

S.No: 5	Item N		(ALT	Kit 500ml Evalution Co	st (Rs)	Rule/Regulation/SBD/Policy/Ba
Name of Bidder		irks	-	Evalution		sis for Rejection//Acceptances
	Technical	Financial	0	Rate	Amount	per Rule 35 of AJK PPRA
	(If	(If	Qty	Kate		Rules.2017
	Applicable)	Applicable)		3910/-	7820/-	Accepted Being First Lowest
M/S Diagnostic	100	N/A	02	3910/-	,020.	being
Medical Associates			00	5190/-	10380/-	Second lowest bid.
M/S Waseem	65	N/A	02	3190/-	10200	
Traders				Nil		Rejected due to less Bid Security.
M/S Ijaz	Nil	Nil		NII		
Enterprises					N	I/S Diagnostic Medical Associates

Lowest Eyaluated Bidder Alkaline Phos. Kit 500ml. Rule/Regulation/SBD/Policy/Ba Item No:-7 Evalution Cost (Rs) sis for Rejection//Acceptances Marks are of Bidder Financial per Rule 35 of AJK PPRA Technical Amount Rate Qty (If (If Rules,2017 Applicable) Accepted Being First Lowest Applicable) 2100/-4200/-02 N/A 100 M/S Diagnostic being Second lowest bid. Medical Associates 9000/-4500/-02 N/A 65 M/S Waseem Rejected due to less Bid Security. Traders Nil Nil Nil M/S Ijaz M/S Diagnostic Medical Associates Enterprises

	Item I	Vor-9 HBs	Ag Kit( F	Iigh Qualit	y).	
S.No: 7		arks	Ev	alution Co	st (Rs)	Rule/Regulation/SBD/Policy/Ba
Name of Bidder	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem	65	N/A	2000	24/-	48000/-	Accepted Being First Lowest being
Traders M/S Ijaz	Nil	Nil		Nil	4	Rejected due to less Bid Security.

S.No: 8	Item No	:-10 HCV	Kit( Hig	gh Quality).	Sent (Da)	Rule/Regulation/SBD/Policy/Ba
Name of Bidder	of Bidder Ma			Evalution C	ost (RS)	sis for Rejection//Acceptances
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	2000	39/-	78000/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.  M/S Waseem Traders

S.No: 9	Item N		lori strips			
Name of Bidder	M	arks		alution Co	et (De)	Dula/D
	Technical	Financial	EV	auon Co	or (188)	Rule/Regulation/SBD/Policy/Ba
	(If	(If	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA
M/S Waseem	Applicable)	Applicable)			mvunt	per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	602	72/-	43344/-	Accepted Being First Lowest
1 raders M/S Ijaz	NIII	-			1°T/~	being being First Lowest
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Ridde					
-onest Evaluated	piader					M/S Waseem Traders
S.No: 10	Υ.	2. 10				
Name of Bidder	Item N		osable Urin			
or bidder	Technical	arks Financial	-  E	valution C	ost (Rs)	Rule/Regulation/SBD/Policy/Ba
	Technical (If	Financial				sis for Rejection//Acceptances
		(If	Qty	Rate	Amount	per Rule 35 of AJK PPRA
M/S Waseem	Applicable) 65	Applicable) N/A	1000	7.00	700-	Rules,2017
Traders	33	13/A	1000	7.20/-	7200/-	Accepted Being First Lowest
M/S Ijaz	Nil	Nil		N1!!		Painated due to loss Pid Security
Enterprises		****		Nil		Rejected due to less Bid Security.
Lowest Fraluated	Bidder					M/O W =
S.No; AL		_12	041 444	)		M/S Waseem Traders
Novine of Bidder	Item No:		ed Water (0			D 1 //2
All Billinger		Financial	Eval	lution Cos	ι (Rs)	Rule/Regulation/SBD/Policy/Ba
/// UK / \	Technical (If	Financial	Of	n		sis for Rejection//Acceptances
		(If	Qty	Rate	Amount	per Rule 35 of AJK PPRA
M/S Waseem	Applicable) 65	Applicable)	51 5	1051	00:	Rules,2017
Traders	0.5	N/A	51 Bottle	195/-	9945/-	Accepted Being First Lowest
M/S Ijaz	Nil	Nil	+	7.111		Being Pringered due to loss Did Security
Enterprises	1311	Nil		Nil		Rejected due to less Bid Security
Lowest Evaluated	Bidder	1				34/032
	utl					M/S Waseem Traders
S.No: 12	Item No:-	14 D	s (200 -	Pagl-1		
S.No: 12 Name of Bidder			rs (200 pcs. 1		(D-)	Dula/Dula/Dula/Dula/Dula/Dula/Dula/Dula/
. vame of Blader	Technical	Financial	Eval	lution Cos	ı (KS)	Rule/Regulation/SBD/Policy/Ba
		Financial	Offic	De4	A	sis for Rejection//Acceptances
	(If	(If	Qty	Rate	Amount	per Rule 35 of AJK PPRA
M/S Waseem	Applicable) 65	Applicable)	25 Pack	2051	71051	Rules,2017
M/S Waseem Traders	US	N/A	23 rack	285/-	7125/-	Accepted Being First Lowest
Traders M/S Ijaz	Nil	Nil		NI:I		Being Pid San Did San it
J	Nil	Nil		Nil		Rejected due to less Bid Security
Enterprises  Lowest Evaluated B	1					
	Ridder.					
Lowest Evaluated E	Bidder					M/S Waseem Traders
		15	200	Di		
S.No: 13	Item No:-		cope Slides			M/S Waseem Traders
	Item No:-	rks		Plane(72 ution Cos		M/S Waseem Traders  Rule/Regulation/SBD/Policy/Ba
S.No: 13	Item No:- Ma Technical	rks Financial	Eval	ution Cos	t (Rs)	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances
S.No: 13	Item No:- Ma Technical (If	rks Financial (If				M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA
S.No: 13 Name of Bidder	Item No:- Ma Technical (If Applicable)	rks Financial (If Applicable)	Eval Qty	ution Cos Rate	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
S.No: 13 Name of Bidder  M/S Waseem	Item No:- Ma Technical (If	rks Financial (If	Eval	ution Cos	t (Rs)	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest
S.No: 13 Name of Bidder  M/S Waseem Traders	Item No:-  Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A	Eval Qty	Rate 225/-	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 Accepted Being First Lowest being
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz	Item No:- Ma Technical (If Applicable)	rks Financial (If Applicable)	Eval Qty	ution Cos Rate	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises	Item No:-  Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A	Eval Qty	Rate 225/-	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 Accepted Being First Lowest being
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises	Item No:-  Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A	Eval Qty	Rate 225/-	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 Accepted Being First Lowest being
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B	Item No:-  Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A	Eval Qty	Rate 225/-	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14	Item No:-  Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A Nil	Eval Qty	Rate  225/- Nil	t (Rs) Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B	Item No:-  Ma Technical (If Applicable) 65 Nil	rks Financial (If Applicable) N/A Nil	Eval  Qty  99 Pack  Fips(1000pa	Rate  225/- Nil	Amount 22275/-	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being  Rejected due to less Bid Security  M/S Waseem Traders
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma	rks Financial (If Applicable) N/A Nil 6 Yellow 7	Eval  Qty  99 Pack  Fips(1000pa	Rate  225/- Nil	Amount 22275/-	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Basis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/Baseem
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma Technical	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial	Eval  Qty  99 Pack  Fips(1000po	Rate  225/- Nil  cs) lution Cos	Amount 22275/- t (Rs)	M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017 Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma Technical (If	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If	Eval  Qty  99 Pack  Fips(1000pa	Rate  225/- Nil	Amount 22275/-	M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances per Rule 35 of AJK PPRA
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14 Name of Bidder	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma Technical (If Applicable)	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If Applicable)	Eval  Qty  99 Pack  Fips(1000pe Eval	Rate  225/-  Nil  cs) lution Cos  Rate	t (Rs)  Amount  22275/-  t (Rs)  Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14 Name of Bidder	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma Technical (If	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If	Eval  Qty  99 Pack  Fips(1000po	Rate  225/- Nil  cs) lution Cos	Amount 22275/- t (Rs)	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14 Name of Bidder  M/S Waseem Traders	Item No:-  Ma Technical (If Applicable) 65  Nil idder  Item No:-1 Ma Technical (If Applicable) 65	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If Applicable) N/A	Eval  Qty  99 Pack  Fips(1000pe Eval	Rate  225/- Nil  cs) lution Cos Rate  375/-	t (Rs)  Amount  22275/-  t (Rs)  Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14 Name of Bidder  M/S Waseem Traders M/S Ijaz	Item No:-  Ma Technical (If Applicable) 65 Nil idder  Item No:-1 Ma Technical (If Applicable)	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If Applicable)	Eval  Qty  99 Pack  Fips(1000pe Eval	Rate  225/-  Nil  cs) lution Cos  Rate	t (Rs)  Amount  22275/-  t (Rs)  Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/Bsis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest
S.No: 13 Name of Bidder  M/S Waseem Traders M/S Ijaz Enterprises Lowest Evaluated B  S.No: 14 Name of Bidder  M/S Waseem Traders	Item No:-  Ma Technical (If Applicable) 65  Nil idder  Item No:-1 Ma Technical (If Applicable) 65  Nil	rks Financial (If Applicable) N/A Nil  6 Yellow 7 rks Financial (If Applicable) N/A	Eval  Qty  99 Pack  Fips(1000pe Eval	Rate  225/- Nil  cs) lution Cos Rate  375/-	t (Rs)  Amount  22275/-  t (Rs)  Amount	M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being Rejected due to less Bid Security  M/S Waseem Traders  Rule/Regulation/SBD/Policy/B sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017  Accepted Being First Lowest being

S.No: 15	Item No:-	17 Blue Ti	ps (1000 r	ics)		
Name of Bidder	Marks Technical Financial		Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances
	(If Applicable)	(If Applicable)	Qty	Rate	Amount	per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	05 Pkt	450/-	2250/-	Accepted Being First Lowest being
M/S ljaz Enterprises	NII	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

S.No: 16 Name of Bidder	Item No:	irks		A,B,D(Set) valution Co	st (Rs)	Rule/Regulation/SBD/Policy/Ba
The state of the s	Technical (If Applicable)	Financial (If Applicable)	Qiy	Rate Amount sis for Rejection//Acceptan per Rule 35 of AJK PPRA Rules,2017		sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	18 Set	1170/-	21060/-	Accepted Being First Lowest being
M/S Ijaz	NII	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

Name of Bidder	Item No	:-19 Cover	Slips 24x2	4 (100 pcs	1)	
Name of Bidder	Mi	Evalution Cost (Rs)			Rule/Regulation/SBD/Policy/Ba	
F. J. L.	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate		sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	60 Pack	420/-	25200/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder		•			M/S Waseem Traders

Ma hnical	rks Financial (If	Eval Qty	lution Cos	t (Rs)	Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances
		Qty	Rate	Amount	
plicable)	N/A	03 Pack	3600/-	10800/-	Accepted Being First Lowest being
	Nil		Nil		Rejected due to less Bid Security.  M/S Waseem Traders
	olicable)	N/A Nil	N/A 03 Pack Nil	N/A 03 Pack 3600/- Nil Nil	N/A 03 Pack 3600/- 10800/- Nil Nil

S.No: 19	Item No:-2	21 Multi S	trip (100 p	cs)		
Name of Bidder	Technical (If Applicable)	Financial (If Applicable)	Ev:	alution Co Rate	st (Rs) Amount	Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	39 Pack	1170/-	45630/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Ridder					M/S Waseem Traders

S.No: 20	Item No:-22 Disposable syring 5cc 100pcs pack							
Name of Bidder	Technical (If Applicable)	Financial (If Applicable)	Ev:			Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017		
M/S Waseem Traders	65	N/A	30 Pack	645/-	19350/-	Accepted Being First Lowest being		
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.		
Lowest Evaluated	Bidder					M/S Waseem Traders		

D

S.No: 21	Item No:-2	23 Plain Tu	be Plasti	ic	and the second second second	
Name of Bidder	Ma Technical (If Applicable)	Financial (If Applicable)	Qty	Evalution Co Rate	ost (Rs) Amount	Rule/Regulation/SBD/Policy/Ba sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	5000	2.10/-	10500/-	Accepted Being First Lowest being
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated	Bidder					M/S Waseem Traders

S.No: 22	Item No:-20	Triglyce	rides F	Kit 500ml		
Name of Bidder	Ma	rks		Evalution Cost (Rs)		Rule/Regulation/SBD/Policy/Ba
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017
M/S Waseem Traders	65	N/A	01	6450/-	6450	Accepted Being First Lowest being
M/S Diagnostic Medical Associates	100	N/A	01	9970/-	9970/-	Second lowest bid
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.
Lowest Evaluated E	Bidder					M/S Waseem Traders

1	S.No: 23	Item No:-32	Typhoid S	Strip			
	Name of Bidder	Ma	rks		<b>Evalution Cos</b>	st (Rs)	Rule/Regulation/SBD/Policy/Ba
	rict Health Officer (A.K.) M/S Waseem	Technical	Financial				sis for Rejection//Acceptances
	ict Hearing K.)	(If	(If	Qty	Rate	Amount	per Rule 35 of AJK PPRA
SÎ.	cirput (/x.	Applicable)	Applicable)				Rules,2017
	M/S Waseem	65	N/A	1000	93/-	93000/-	Accepted Being First Lowest
	Traders						being
	M/S Ijaz	Nil	Nil		Nil		Rejected due to less Bid Security.
	Enterprises						
ĺ	Lowest Evaluated B	idder					M/S Waseem Traders

S.No: 24	Item No:-33	Item No:-33 Dettol Anti Septic Liquid 100ML.								
Name of Bidder	M	arks	Eva	lution Co	ost (Rs)	Rule/Regulation/SBD/Policy/Ba				
	Technical (If Applicable)	Financial (If Applicable)	Qty	Rate	Amount	sis for Rejection//Acceptances per Rule 35 of AJK PPRA Rules,2017				
M/S Waseem Traders	65	N/A	63 Bottle	260/-	16380/-	Accepted Being First Lowest being				
M/S Ijaz Enterprises	Nil	Nil		Nil		Rejected due to less Bid Security.				
Lowest Evaluated	Bidder			M/S Waseem Traders						

District Health Officer Mirpur A.K

Official Stamp: Mirpur (A.K.)